Dora bought these muffins.
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Muffins cost 35p each.
How much did Dora spend?

Tommy bought three times as many
muffins as Dora.

How many muffins did Tommy buy?
How much money did Tommy spend on
muffins?

How much more money did Tommy
spend than Dora?

Reasoning

Rosie has £5
Has she got enough money to buy a car
and two apples?
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[ £3 and 35p

D

£2 and 55p ]
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What combinations of items could Rosie
buy with £5?




Dora bought these muffins.

Muffins cost 35p each.
How much did Dora spend?

Tommy bought three times as many
muffins as Dora.

How many muffins did Tommy buy?
How much money did Tommy spend on
muffins?

How much more money did Tommy
spend than Dora®?

Answers

Dora spent 105p
or £1 and 5p.

Tommy bought 9
muffins.

He spent 315p or
£3 and 15p.

Tommy spent
210p or £2 and
10p more than
Dora.

Rosie has £5
Has she got enough money to buy a car
and two apples?
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What combinations of items could Rosie
buy with £5?

£2 and 55p ]

£3 and 35p +
85p + 85p =£5
and 5p

She does not have
enough money.

Rosie could buy

1carand 2
balloons

1 car, 1 apple and 1
balloon

1 magazine and 2
apples



